MERCRUISER (7.4L TBI MIE [LH] GEM. W1 GM 454 %2 1336-1337)
Serial Mbr Range: OFE74815 THRU 0K333333 ()

THERMOSTAT HOUSING (STANDARD COOLING)

-
=
~,

"

< THERMOSTAT HOUSIMNG [STAMDARD COOLIMNG) b w
Ref |Clazs|Part Description Qt Comment Footnote
2 22 32803 PLUG-PIPE [3/81M ) 2

3 27 806871 GASKET-THERMOSTAT 1 4
4 27 53045 1|GASKET-THERMOSTAT HOUSIM |1 4
5 07252 2| THERMOSTAT 1

A 23 B60377|SLEEWE 1

7 10 98794 | SCREW [3/8-16 = 1 1M ] 2

a2 32 207407 1|HOSE-THERMOSTAT HOUSING. |1

9 32 207983/ HOSE-EMGIMNE OIL COOLER TO F|1

10 32 B08045/HOSE-FUEL COOLER TO TRAMSI1

11 32 B08044| HOSE-TRAMSMISSION OIL COOL |1

12 54 A15504222| CLAMP g

13 32 839718 1|HOSE-THERMOSTAT HOUSIMNG “|1

14 54 815504232 | CLAMP 2

15 32 97385 3|/HOSE-THERMOSTAT HOUSIMNG "1 [FPORT]

16 32 B07201 |HOSE-THERMOSTAT HOUSING 7|1 [STARBOARD)

17 54 815504220| CLAMP 4

18 8055464 2| BRACKET-TRAMNSMISSION OIL Cif 1

19 Fr223 3| PaD 1

20 54 815504232 | CLAMP 1

21 10 ATE1Z | SCREW [3/8-16 = 1-1/4 1N ] 1

22 13 35048 | LOCKAWASHER [3/8 1M 1

23 B07996T | COOLER-TRAMSMISSION OIL CO|1

24 54 47715|CLIP 1

25 10 257654 1| SCREW & LOCKWASHER [(5/16-1 (1

- 27 B0EE40496 | GASKET SET-0WERHALIL 1




